ALGEBRAIC FRACTIONS (SIMPLIFYING) GCSE

[ESTIMATED TIME: 75 minutes]
(+ IGCSE) EXAM QUESTION PRACTICE

1. [3 marks]
Simplify full XL
plity Y 6 4
2. [3 marks]|
TPy 2x2 —9x -5
Contains questions which have been reproduced with the kind Questions compiled by:

permission of Pearson Education Limited UK @Maths4Everyone



[3 marks]

Express the algebraic fraction

2x*-3x-20

x2-16

as simply as possible.

[6 marks]

Simplify

x* =3x
2x—6

(a)



[3 marks]

4x* =25
Simplify fully ———
PHLY y 6x*+13x—=5

[4 marks]

5x2+14x-3

Simplify fully
50x% -2



[3 marks]

x> +6x
x? =36

Simplify fully

[5 marks]

X

2
Simplify full +
Py Y x+2 xX*+5x+6



[6 marks]

2

2
x°—2x

(a) Simplify

N 2 1
(b) Simplify el a1



10. [3 marks]

Simplify fully i+ 3
x 2

—X

11. [3 marks]

x> —16

Simplify full
PHLY Y x> —6x+8



12. [3 marks]

x—1 x+

Express as a single fraction.

Give your answer as simply as possible.



13. [3 marks]

Express 3 6 as a single fraction.
x+2 2x+5

Simplify your answer.

14. [4 marks]|

6x*+x—15

Simplify fully
12x* — 27

Show clear algebraic working.



15. [4 marks]

X +x—6

Simplify fully 1+———
Py Y (x+4)(x-2)



16. [6 marks]|

) . 2 x—11
Simplify full +
Py yx—l x*+3x—4

17. [3 marks]

2x —5x—12
Simplify fully ————> =
4x° -9



18. [4 marks]

2

Write 5 — (x +2) + [x

] as a single fraction.
x-=3

Simplify your answer fully.

19. [5 marks]

B X+ 2
2x —6  x*—4x+3

Simplify fully



